
Exercise 3-1 
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Obtain the condition for the 

ampere meter D indicates zero. 



Exercise 3-2 

Voltage: 𝑉 𝑡 = 𝑉0𝐻(𝑡)  
𝐻(𝑡) is Heaviside function 

 

is applied. 

Obtain the current response for  

the following conditions. 

 

(i) 𝑅/2𝐿 2 > 1/𝐿𝐶 

 

(ii) 𝑅/2𝐿 2 = 1/𝐿𝐶 

 

(iii) 𝑅/2𝐿 2 < 1/𝐿𝐶 

 



Exercise 3-3 
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In the circuit shown in the 

left, at point P, a waveform in 

the lower panel was 

observed. Here V+ and V- are 

power source voltages for + 

and – respectively. 

 

Draw a rough sketch of the 

waveform for Vout. 

Vout 


